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A   Choose the sentence with the correct use of commas.

     1. a) The causes were, economic, political and social.

         b) The causes were economic, political and social.
         c) The causes were economic, political, and social.

     2. a) Maths, physics, biology and chemistry were the hardest exams.

         b) Maths, physics, biology and chemistry, were the hardest exams.
         c) Maths, physics, biology, and chemistry were the hardest exams.

     3. a) She needed to provide ID, proof of address, and also a reference.

         b) She needed to provide ID proof of address and also a reference.
         c) She needed to provide ID, proof of address and also a reference.

B   Add a comma in the right place to these sentences, thinking about both

     sentence parts and longer words.

1. After leaving university she applied for a number of jobs.

2. If they gave in their essays late they would get a lower mark.

3. Even though it was the end of term there was still a great deal of work to do.

4. He taught four courses which was unusual.

5. Despite having great facilities the college had few sports teams.

6. When the government changed policy changed too.

7. As the college closed at 10pm some students had trouble finding buses to go home.

8. The college had an excellent reputation. Consequently many students applied.

9. The candidate had poor qualifications.  On the other hand she had good references.

10. The training was useful for staff.  Furthermore it was extremely popular.

C   Underline the extra, less important information in the sentence, using the 

     commas to help. 

     e.g. a) The teacher, who was French, worked in the Humanities Department.

     e.g. b) The lecturers who were based in town had to pay for parking, costing £3 a day.  

1. The student, who was from India, graduated with a First.

2. The teacher who taught me maths was given an award, which was fantastic.

3. The letter, which arrived yesterday, was sent to the college where I worked.
4. The college, where I worked part-time, was going to close.

5. The college where I worked, teaching sport to young people, was going to close.  

6. The student, writing on Facebook, said it was a great course.

7. The student writing a novel was on the same course as me, studying maths.

8. The teacher who knew First Aid was an ex-soldier, trained in Iraq.   

9. The teacher, who knew First Aid, was an ex-soldier trained in Iraq.    
10.  Located in the countryside, the college had strong links to farming.       


D   Replace the apostrophes with the missing letters.

1. they’re

2. he’s left the college

3. he’s English

4. it’s

5. won’t

6. who’s this?

7. they would’ve succeeded

8. we’d seen the report

9. we’d like a coffee

10. he couldn’t’ve known
E   Correct 3 of these sentences, taking out the apostrophe because they are

     simple plurals.

1. The students’ were early for class.

2. The library’s books were useful.

3. He was fined for returning the book’s late.

4. There were a number of course’s on offer.

5. Students’ results were impressive.

F   Say how many for the underlined words - one (singular) or many (plural).
     e.g.  a) The college’s gym  

= one (singular) college

     e.g.  b) The boys’ changing room  
= many (plural) boys
1. The tutor’s books

2. The tutors’ books

3. The students’ class

4. The student’s class

5. The college’s problems

6. The departments’ budget

7. My sisters’ friends

8. My brother’s friend’s house

9. My brother’s friends’ house

10. My brothers’ friends’ house

G   Find the 3 apostrophe mistakes and correct them.

1. The teachers’ name was Ed.  

2. Ed’s surname was Macmillan.

3. All our learner’s needs are important.

4. Peoples’ opinions vary.

5. The women’s team won the competition.

H  Rewrite these phrases using  ‘s  or  ’  to replace ‘of’. Start with the underlined

     words.

    e.g. needs of a learner


= a learner’s needs 
    e.g. hardware of the computers
= the computers’ hardware
1. books of the students 

2. surname of the tutor 

3. class of Professor Turing
4. essays of the student
5. decision of the departments
6. results of the students
7. the universities of the city
8. the universities of the cities
9. play area of the children
10. votes of people
I  Choose it’s or its to complete the sentence.

1. It’s/Its useful to read as much as possible.

2. We don’t know if it’s/its going to be successful.

3. The college is modern.  It’s/Its website is impressive.

4. It’s/Its going to be a tough course.

5. The cafe is new but it’s/its problem is access.

6. It’s/Its been four months since graduation.

7. The Internet is hugely important.  It’s/Its inventor was Tim Berners-Lee.

8. The Internet is hugely important.  It’s/Its developed rapidly.

9. The university is large so it’s/its a long walk between it’s/its buildings.

10. It’s/Its  a good book and it’s/its writer is now famous.

Answers

A   
     1. b) The causes were economic, political and social.
     2. a) Maths, physics, biology and chemistry were the hardest exams.

     3. c) She needed to provide ID, proof of address and also a reference.

B   
1. After leaving university, she applied for a number of jobs.

2. If they gave in their essays late, they would get a lower mark.

3. Even though it was the end of term, there was still a great deal of work to do.

4. He taught four courses, which was unusual.

5. Despite having great facilities, the college had few sports teams.

6. When the government changed, policy changed too.

7. As the college closed at 10pm, some students had trouble finding buses to go home.

8. The college had an excellent reputation. Consequently, many students applied.

9. The candidate had poor qualifications.  On the other hand, she had good references.

10. The training was useful for staff.  Furthermore, it was extremely popular.

C   
1. The student, who was from India, graduated with a First.

2. The teacher who taught me maths was given an award, which was fantastic.

3. The letter, which arrived yesterday, was sent to the college where I worked.
4. The college, where I worked part-time, was going to close.

5. The college where I worked, teaching sport to young people, was going to close.  

6. The student, writing on Facebook, said it was a great course.

7. The student writing a novel was on the same course as me, studying maths.

8. The teacher who knew First Aid was an ex-soldier, trained in Iraq.   

9. The teacher, who knew First Aid, was an ex-soldier trained in Iraq.    
10. Located in the countryside, the college had strong links to farming.  
D   
1. they are
2. he has left the college

3. he is English

4. it is
5. will not

6. who is this?

7. they would have succeeded  (not ‘of’!)

8. we had seen the report

9. we would like a coffee

10. he could not have known (not ‘of’!)
Answers contd.

E 

     1. The students were early for class.

     3. He was fined for returning the books late.

     4. There were a number of courses on offer.

F   
1. The tutor’s books


= one tutor

2. The tutors’ books 


= many tutors
3. The students’ class 

= many students

4. The student’s class


= one student

5. The college’s problems              = one college

6. The departments’ budget 

= many departments

7. My sisters’ friends 


= many sisters

8. My brother’s friend’s house
= one brother; one friend

9. My brother’s friends’ house
= one brother; many friends

10. My brothers’ friends’ house
= many brothers; many friends

G   

     1. The teacher’s name was Ed.  

     3. All our learners’ needs are important.

     4. People’s opinions vary.

H  
1. the students’ books 

2. the tutor’s surname 

3. Professor Turing’s class
4. the student’s essays
5. the departments’ decision
6. students’ results
7. the city’s universities
8. the cities’ universities
9. the children’s play area
10. people’s votes

I  

1. It’s useful to read as much as possible.

2. We don’t know if it’s going to be successful.

3. The college is modern.  Its website is impressive.

4. It’s going to be a tough course.

5. The cafe is new but its problem is access.

6. It’s been four months since graduation.

7. The Internet is hugely important.  Its inventor was Tim Berners-Lee.

8. The Internet is hugely important.  It’s developed rapidly.

9. The university is large so it’s a long walk between its buildings.

10. It’s a good book and its writer is now famous.
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